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Subtraction with regrouping Word Problems

A large gas truck can hold 9 834 gallons of gas. If the truck already
contains 5 947 gallons of gas. How many more gallons of gas will be
required to fill the truck. Th H T 0

In the year 2011, Palmdale Primary School had 1,806 students. In the
year 2020, they had 4,930 students. How many more students were
there in the year 2020 than in the year 2011?
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There were 6105 participants who took part in the District’s Spelling
Bee. The competition had 907 participants who finished. How many
participants were unable to complete the District’s Spelling Bee

Competition?
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Today we counted 1 437 seagulls on Junkanoo Beach, and then 829
seagulls flew away. How many seagulls are left on Junkanoo Beach?
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